
Division par 10² (E)Trouvez chaque quotient.
1,456 ÷ 10² = 9,8079 ÷ 10² =
7,43 ÷ 10² = 4,6326 ÷ 10² =
6,6132 ÷ 10² = 1,324 ÷ 10² =
3,314 ÷ 10² = 7,858 ÷ 10² =
2,138 ÷ 10² = 2,0507 ÷ 10² =
6,3 ÷ 10² = 9,12 ÷ 10² =
7,53 ÷ 10² = 4,53 ÷ 10² =
2,06 ÷ 10² = 4,5916 ÷ 10² =
1,979 ÷ 10² = 5 ÷ 10² =
1,33 ÷ 10² = 3,7 ÷ 10² =
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Division par 10² (E) SolutionsTrouvez chaque quotient.
1,456 ÷ 10² = 0,01456 9,8079 ÷ 10² = 0,098079
7,43 ÷ 10² = 0,0743 4,6326 ÷ 10² = 0,046326
6,6132 ÷ 10² = 0,066132 1,324 ÷ 10² = 0,01324
3,314 ÷ 10² = 0,03314 7,858 ÷ 10² = 0,07858
2,138 ÷ 10² = 0,02138 2,0507 ÷ 10² = 0,020507
6,3 ÷ 10² = 0,063 9,12 ÷ 10² = 0,0912
7,53 ÷ 10² = 0,0753 4,53 ÷ 10² = 0,0453
2,06 ÷ 10² = 0,0206 4,5916 ÷ 10² = 0,045916
1,979 ÷ 10² = 0,01979 5 ÷ 10² = 0,05
1,33 ÷ 10² = 0,0133 3,7 ÷ 10² = 0,037
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